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a) mIaredr ST TehahIRIT Teh®T 31T,
b) @A HoT RERTRAY AT
$TeT 2

2. 919 5.2 GHT Tl IRH WXYZ el

3. S5 6 VHT 3T ARATAT KUY oIiel HiaT .
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4. 1(AB) = 6.0 THT 10T I(BC) = 4.5 THT 34T 3 ABCD hlar.
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5. SIS 4 FHT 30T mLK = 75°378T §HST KLMN Hrer.
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6. TehT HTIATAT 0T 268HT GeT AT Teh 19 24 FHT 3T, AT AT G STof HIal.

7. AB =4 T#HT 311101 0T AC 6.5 @1 38T ABCD HHHST e,
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8. STS] 7.2 AHT JTTOT L 60°31AT HHYST hlar.

$1TeT 4
9. 3Id ABCD TIT Ul Beslteg P 37Te.

0] I(AB) = 8 ¥HI X I(DC) = farcir?,

(i) |(BP) = 8.5 §HT aX |(BD) 3TTOT |(BC) ShraT

THUITHSY -8 - ITT0I: TiehleT AT T AT TR - 8 qreT:4



Gl T T AP THFR
3TA: HTSGAT, lehled AT, A, AR, FHH ST lhled

10. BEST &1 HHYST AlhIeATe 0T Tehaehi=l Toig, A FEY Sedld..
(i) SR mLBTS = 110°, & mL TBS &rer

(ii) S I(TE) = 24, I(BS) = 70, &% I(TS)= frar 2
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